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TERMINOS SEMEJANTES

Reduce los términos semejantes, resolviendo previamente los paréntesis, cuando corresponda:

	1.       7a - 8b + 5c - 7a + 5a - 6b - 8a + 12b  =


	2. 
 35x + 26y - 40x - 25y + 16x - 12y =



	3.  
24a - 16b + 3c - 8b + 7a + 5c + 23b + 14a- 7c - 16a - 2c =



	4. 
 3m - 7n + 5m - 7n + 5n + 3n - 8p - 5n + 8p =



	5. 
 4p - 7q + 5p - 12p - 11q + 8p - 11q + 12r + p + 5r =



	6.
 2a2  + 3b2 - 5a2 - 12 b2 - 7a2 + 6b2 - 8a2 - 5 b2 =



	7.         7a -  1,8 b + 5 c - 7,2a + 5a - 6,1b - 8a + 12b  =



	8.        8a  + 5,2 b  - 7,1a + 6,4 b + 9a - 4,3b + 7b - 3a =



	9.       3m - 

n + 5m - 7n + 5

n + 3n - 

p - 5n + 8p =

	10.      2

a2  + 3

b2 - 5a2 - 12 b2 - 7a2 + 6b2 - 8a2 – 5 b2 =

	11.      5a - 3b + c + ( 4a - 5b - c ) =



	12.      3a + ( a + 7b - 4c ) - ( 3a + 5b - 3c) - ( b - c ) =



	13.      8x - ( 15y + 16z - 12x ) - ( -13x + 20y ) - ( x + y + z ) =



	14.      9x + 13 y - 9z - (7x - { -y + 2z - ( 5x - 9y + 5z) - 3z }( =



	15.      -( x - 2y )  - ( { 3x - ( 2y - z )} - { 4x - ( 3y - 2z ) }( = 

	16.       6a - 7ab + b - 3ac + 3bc - c - {(8a + 9ab - 4b) - (-5ac + 2bc - 3c)} =

	17.       8x - ( 1

y + 6z - 2

x ) - ( -3

x + 20y ) - ( x +

 y + z ) =

	18.       9x + 3

 y - 9z - 
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